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Antenna Simulation
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Gain Simulation
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. Simulation of antenna edge gain

e The pitch plane is as follows
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. Simulation of antenna pattern
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farfield (f=18) [1]

Type Farfield
Approximation enabled (kR >> 1}
Component Abs

Qutput Realized Gain
Frequency 18 GHz

Rad. Effic. 0.07822 dB

Tot. Effic. 0.03852 dB

Rlzd. Gain 13.05 dBi

Theta

H [

E

Farfield Realzed Gain Abs (Phi=0)

farfield (F=18) [1]

0

Phi=180

60

90

120

Frequency = 18 GHz
Main lobe magnitude =
Main lobe direction = 0.0 deg.
Angular width (3 dB) = 41.4 deg.
Side lobe level = -22.7 dB

13.1 dBi

180

Theta / Degree vs. dBi

Phi= 90

Farfield Realized Gain Abs (Phi=90)
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farfield (f=24) [1]

Type Farfield
Approximation enabled (kR >= 1}
Component Abs

Qutput Realized Gain
Frequency 24 GHz

Rad. Effic. -0.008939 dB

Tot. Effic. -0.07949 dB

Rlzd. Gain 15.21 dBi
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farfield (f=32) [1]
Type Farfield

Approximation enabled (kR == 1)

Component Abs

Qutput

Frequency 32 GHz
Rad. Effic. -0.0011
Tot. Effic. -0.0677
Rlzd. Gain 17.54 d

Realized Gain
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Angular width (3 dB) = 24.9 deg.
Side lobe level = -14.2 dB

40GHz




farfield (f=40) [1]

Type Farfield
Approximation enabled (kR > > 1)
Component Abs

Theta

Qutput Realized Gain
Frequency 40 GHz
Rad. Effic. -0.02339 dB
Tot. Effic. -0.04185 dB
Rlzd. Gain 19.33 dBi
Farfield Realzed Gain Abs (Phi=0) Farfield Realzed Gain Abs (Phi=90)
0 farfield (F=40) [1] 0 arfield (f=40) [1]

Phi= 0 Phi=180

Frequency = 40 GHz

Main lobe magntude =  19.3 dBi
Main lobe direction = 0.0 deg.
180 Angular width (3 dB) = 19.9 deg.
Side lobe level = -32.7 dB

Theta / Degree vs. dBi

Phi= 90

Phi=270

180

150

Theta / Degree vs. dBi

Frequency = 40 GHz

Main lobe magnitude = 19.3 dBi
Main lobe direction = 0.0 deg.
Angular width (3 dB) = 19.6 deg
Side lobe level = -13.7 dB




